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(i) _E|+E

3 xt= |.'r|-it'

(i) x =0

[} =1=x=l
(i) x<0

(v} x <=1

4. |x*-3x+2<0 if
{ij x=2

(i) x <1

(ili) D< x <1

, 3
(i) ]{.1.'{?

A circle through the intersection of x* + }-: =lr & 2x=11Is
(i) x* +y° =2

(i) x* + v +4x-3=0

(i) 2x° +2p" —4x=1=0

[iv]) x4 .'.': =Z2x-1
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S. No. Questions HE
Z|=
6. |x—av=a & x+ fy=>b aretwo lines and so (x—a v)(x+ 8 v)= ab represents 1
(i) a pair of straight lines
{ii) a pair of lines if a=b=0
{iil} a pair of lines if ab=1
{iv} none of these
7.  [The distance between 3x+4y =10 & 3x+ 4y =20 is 1
{i)10
{ii) 2
()5
1
(iv) ?;
8. . , - 1
IThe limit Jym (* +1F =
(i) g
(i) 1
{ili) =
{iv) O
I
% | The liit lim{x+1J = 1
(i) e
{if) 1
{ili) =
{iv) O
10. ' -8 1
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